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QUESTION 1

Which of the following is the best description of well known ports? 

A. Well known ports apply to routers only and are used for communication and control traffic. Well known port numbers
are assigned by IANA and can have any value. 

B. Well known ports are used by TCP and UDP. Well known port numbers range from 1024 to 65535 and are assigned
by IANA. 

C. Well known port numbers are used by both TCP and UDP. Well known port numbers range from 1 to 1023 and are
assigned by IANA. 

D. Well known ports numbers are used by TCP only. Well known port numbers are assigned by IANA and can have any
value. 

Correct Answer: C 

 

QUESTION 2

Which of the following involves grouping a number of routes with common prefixes into a single route advertisement? 

A. Hierarchical IP Addressing 

B. IP Address Subnetting 

C. Variable Length Subnet Masking 

D. IP Address Summarization 

Correct Answer: D 

 

QUESTION 3

When forwarding a packet, which field in the following table determines the egress interface? 

A. Preference 

B. Metric 

C. Next-hop 

D. Cost 

Correct Answer: C 

 

QUESTION 4

What must the sender do when it receives a window size of 0 from the receiver? 
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A. Stop transmitting. 

B. Terminate the TCP session. 

C. Send the next segment. 

D. Retransmit the previous segment. 

Correct Answer: A 

 

QUESTION 5

Which of the following is true of Ethernet half-duplex transmission? 

A. Half-duplex transmission is less efficient because the frame MTU is smaller. 

B. Half-duplex transmission is only 30-40% efficient because of collisions. 

C. Ethernet switches support half-duplex transmission only. 

D. All of the above. 

Correct Answer: B 
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